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OPTION -A
Paper : BOT-HG-3016/RC-3016

(Plant Physiology and Metabolism )

1. Answer the following questions as directed :
weTs Al e Tel fua e

1X7=7

(i) Which one of the following statement is
correct when a cell is fully turgid ?

(@) DPD = OP

(b) DPD = 0 (zero)

(0 WP = 0 (zero)

(d) OP = 0 (zero)

Tl e Bl (FIE (FIS NS @R

Tfe 12
(@) DPD
(b) DPD

OP
Y

(c) WP =¥
(d) OP =¥
(iij) Who first proposed the transpiration pull

and cohesive force of water theory for
ascent of sap ?

(a) Dixon and Jolly
{b) Sir J. C. Bose
(c) Noggle and Fritz

(d) Boehm
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IJ

AT T W% SAINE FHIE T (I AL
RIREEESE

(a) &I == T
(b) ®R (= . 77
(c) I % fFoe
(d) =N

(i) Which one of the following is not an
essential micro elements ?

(@)
(b)
(c)
(d)

Boron
Iron
Manganese

Potassium

TG (PG Gl SR SRS G

"2y ?

(@)

T

(b) IEH

(c)

e

(d) =i
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(iv) Who first coined the term photoperiodism ?
(@) Curtis and Clark
(b) Garner and Allard
(c) Miller and Skoog
(d) Salisbury and Ross
@I (o gt T oAl (i
eifferat) *Co! ebeTm i1 ?
(@) <5 o F
(b) MR IR GEE
(c) TEs = gl

(d) Rl o T2

(v) Swelling of wooden doors and windows
during rainy season in due to
phenomenon. (Fill in the blank)

iRl e 103 TaR Fizal RITSR 2a 915
SR AW T (06T AT o7 )
(vi) Indole-3-acetic acid is belongs to

group of plant growth regulators.
(Fill in the blank)

3We-3-a0T @S T (aif5e Sfew
i | (AT 312 779 79)
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(vii) In Calvin cycle, how many ATP molecules
are required to produce one molecule of
glucose. (Answer directly)

B! 23 B9 IS FRACT (oA bP© @251
ATP SIF TS | (Zerw Tey f73)

Write short notes on the following: 2x4=8

(a) Importance of osmosis in plants

(b) Role of phosphorus in plant growth

(c) Co-enzymes

(d) Vernalin

fAesre emives 5y (i forar

(@) Tfere wirjfes wasg

(b) Tfens Iae TR TR

(c) TZCEHF

(d) Sl

Answer any three of the following questions :
5x3=15

(a) “Cell is an osmotic system”. Justify the
comment.

(b) Write notes on various agents of
biological nitrogen fixation.
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Theory of starch = sugar interconversion
in stomatal opening and closing.

(d) Cytochrome pump hypothesis.

e) Describe Munch hypothesis of
translocation of solutes.

fcsie feea fofaor e Teq fra ¢

(@) “CFE G I TRYS ©F —AO] Pl 1 |

(b) TEreE talke REfeTere ek e ffen
G KA o B

(c) +TFE I TR (A S (ISAR = W
SEReRae 7 I 4|

(d) GIRGIE #A™ TSI |
() (ST oS e oM Il 34 |

Answer any three of the following questions :
10x3=30

=i [z fofs ok Tes fBifdal ¢

(aq) What is enzymes ? Describe the modern
system of enzyme classification with
suitable examples. 2+8=10

T T 1 g0 2 BTy Sy @i
fRorem Tuizsd AT [N 4 |
(b) Write a short note on Kranz anatomy

with suitable diagrams. Describe in detail
the C4 cycle of photosynthesis. 4+6=10

(c)
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()

(d)

()
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(TG SREBoIoT AIE P72 o 4o Gl
o731 | FAERREEI ¢, v Al T |

What' do you mean by C; and Cy plants ?
Mention the differences between C; and
Cs plants. 5+5=10

C3 W% C, Sfew Jfereet & @1 G =% ¢y
Tferm e 4 AR Fibkm w9 |

Give an schematic representation of
cytoplasmic respiration. Describe how
oxidative decarboxylation of pyruvate into
Acetyl Co-A. 5+5=10

(PR AP e (@RI T2Te Togiom
39 | TS F [aee a|l Aizsfes abos
&l @FEA “aiboize & ez @7

(Acetyl Co-A) 2i@® = I 1|

What is auxin ? Discuss the physiological
role and functions of auxins in plants.
2+8=10

s e Tone wiEg *<9 RATR Simm
Wi I I8, ol |

What do you mean by photoperiodic
induction ? Describe in detail the
mechanisms of photoperiodism. 2+8=10

ARl T et e s 3@l 2 e elfeferar
fgra ReiRe e 3 w411
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OPTION -B

Paper : BOT-HG-3026

( Environmental Biotechnology)

Answer the following questions :

1x7=7

oS Tl eniEiRT Ted Wl 8

(@)

(b)

(c)

(d)

(e)
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Name one secondary pollutant.

@Bt (Nl emEs A |

Name a Ramsar site of the state of
Assam.

TS ST ! R ZRE i ol

Name one NGO from Assam that work
in the field of environmental conservation

and ecology.

SRz ATl O AR R (e i
=l S B REIPRT AZR A i |
______leads to reduction in the dissolved
oxygen.

AT TGS SR g A |

What is the full form of COD ?
cop 3 T T fe
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(9)

Write short answers :

From which district the Chipko
Movement started ?

@ Rt o ot Siemew oI9S (2f=e ?

Where is the headquarter of United
Nations Environment Programme (UNEP)
situated ?

G ARG FRPEIE (UNEP) 4 e
T© SRFO ?

2x4=8

s 5F bed wal ¢

(@)

(b)

(c}

(d)

What are the various components of acid
rain ?

95T TegeR Rfen Temia & 2

Write two disadvantages of trickling filter.
B3 Rreblm 75y SPIfRa fortl

What is air quality index (AQI) ?

AT @elad IHRFISE (AQY) &

What is environmental ethics?

Ak ool 52
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s, Answer any three of the following: 5x3=15

o e oAb Tex o g

(a) Give a brief account of indoor air
pollution.

TR foose Y avmeR vy Ress @t

(b) What are the effects of increased carbon
footprints ?

< TORRS g oo R e

() What are the positive and negative
impacts of trade on the environment ?

ART ¢oiTe IR AT AP F@SATS
gor & &2

(d) Describe the process involved in an
oxidation pond.

SIfRCes 49T T aiferr 3 o1 |

(e) gtate the functions of the Central
pollution Control Board.

(T ST T 36 - S 7 |
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Answer any three of the following: 10x3=30
Rz oAb 23 Tes ol

(@)

What is greenhouse effect ? What are the
major greenhouse gases? State few
measures to reduce emission of green-

" house gases. v 3+2+5=10

Ciow oz Yo e g4 (Iow 9% (AR &

e Gt 7 oo Rsfim 27 IR A g

(b)

()

(d)

I T =

State few major causes for environment
movements in India. Give an account of

' the Narmada Bachao Andalon. 4+6=10

OIS SR STHIFR [ A T T
3] | T e Wi [ T

Give an account of International NGQs
that work in the field of environment.
10

AR CFaTe I TR SIEAIg o« o oo
et faan)

What is Kyoto Protocol ? Describe the

salient features of the Kyoto Protocol.
' 2+8=10

'S ob'ee e RS bR STy
BRIz 3 =1
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(e) What.is b,iovremediationv ?__;Give an .
- account of molecular approaches in
bioremediation. . 2+48=10
:.tmﬂl%qsra(mrﬁwmm)ﬁ?merm
SR v Reet ft

(i Give an account of the Rio declarations
on environment and development. What
were the important outcomes of the Rjo
Earth Summit 19927 - - 7+3=10
IRGE 9% TR eoie Rery et
Ra=et ez S953 R Ry’ wief yfisg agopef
TEre & wifeere o

————
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